EARAROBEEIERT — 2 N— IBISH —F

2012458138 (B) 2EF=8H

mﬁi% 3 KEF [I8TE] B ‘ [Xiz] % ‘ [eErsm]  — | & (%) 14000 B
[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
it 3 | BBIES 1:27.4 3-2 37.0 — 1 482 | FIEHE—BR ()
1 1 HILd * 56.0 (=) (-12) (#) /—ZAENLX
LY RUYIYIXIR B XY= T+ J—ZEIWZXIZI AR
S = g HEIL#REL :27. = . — FEE (EH
2| 8|10 Y ¥ A>TLAY - SRR X an || 2l e
R:TITRAFIEIN BiRX/ bIEX BRRUS
4 3 | AEEE 1:27.6 3-4 7.1 — 7 478 | IRARERL (35)
3(5/9 71’_&/7 56.0 (1 1/4) (0) AHLEBEA
L:avz2y3ay B:777)0—7 AH BLkX
s, . JNERE : — - ek A (FEE)
4 N ST Ve 4 3 1 172{:)7 5-5 37.1 5 (43‘3 i
R:772VIT7 B:xU-H—-I AW
5= = HD#{E :27. - . — AREEL (EFH
5 12/ AMBTT707/ "3 56.0 1(12/72>8 = 8.2 ¢ f:) ﬁx%ﬁ
R:O7F BiASTEZRY— FHESS
e P HREES .08, = 1| = AR (E#)
s ~=/vnx R - e I Yl e | o s
R: 29T b+ —FG7—K—-—K B:LyRKX&2—-51 KRB
S LRI t 3 LIRS 1:28.5 1-11 37.3| — 8 486 | ILHEER (E@)
7|11 | ¥R ET H 2 3/4) O |EREiy Ly
LT RIA¥ L= B:IWN—NL—H—-I YA 785
. KBEFNFR : - — MEER (EH)
glzlis|m—FTx1Fv— 4 3 i 1(.12/82.)6 5-5 38.0 9 gt) maeR
L:—A7O— B:JO0947TNERXZ /e ]

S . t 3 | HE 1:28.7 13-11 37.4| — 6 466 | MAILURRA ()
98|16 FU—LE-2X g 5lhﬁ.0 (3/4) (-8) ‘C_'\‘/"‘/I/—Zﬂi—x (#%)
L:vrsaJo4 B:VL141Rk-)L BHT7— L

4 3 | ENERE 1:28.8 9-8 37.8| — 10 | 504 |/NEPREB (55i/)
10{7 |14 ¥3777 =7 56.0 (172 G | ) s
Rg—YrH— B:TIFFFVU— Rt e
. R 5| ff— . - — N fmEL (35im)
» 2T P ) i3 e (13219/24> 9-8 38.3 14 (zt_zg patsl
REVISIN BievLAkY HIMREy b
. HLTRRA : - — FHEEX (EH)
b gl et hFa 4 3 = 1(/72?:;1 13-14 | 37.7 12 zzg? Emaﬁ*—aﬁ
RHIINT A~ BiRINE—ZARE— il]z:Ehe)
j RN 4 3 | EEE2 1:29.6 13-14 | 37.9| — 13 | 492 |KEFEIEL (i)
13/ 1|2 FV—F73> 8.0 m Gy | RARFIR
R:xXa—Yrda—x BNMLEA L EBH%E
S 1@ LE N :29. — . — amEZ (EE
14fd 3| 7> K31 (B] R X o) I B e
RwALIF49R BII5 JSARNL—Z Tt s—
B3 | MEEK 1:30.6 11-13  [39.2| — 15 | 412 |JvaIUE (E#)
15/ 815 F—X<—+H 540 (5) (-q) | KBHE
R:ZRGr T v A —T7—FK—K B:AXRSTKY—-L ElnI=Emae]
< HBE — - — — — — | /hBX (ER)
Rl 6| P/ Pa—7 G- (BH) —) |BR&
R:viNyBgHTr B:TrACRLyY— "HET7— L4
@ 71 L
) 50.1-37.1
NA>ZA L | 12.9-11.7-12.7-13.0-12.3-12.2-12.6
® I —F—@EBIERL
|2=3F=
230—7F—
ga=7"= (x7,10) (9,11) (4,13)12,3(5,14) (1,15) (2,8,16) 6
40—+ — (7,%10,11)9(4,12,13)-(3,5,14) (1,16)15(2,8) 6
[ N3
BB 1 290/ 714K 10-11 190H e E 5-6 260/ JEHE 9-10-11 3,200
8 B 1 130M 9-11 1,250 B = 10-11 420M B 11-10-9 11,080
10 140/ 9-10 1,230 B H 11-10 760M
9 610/

ABICOVWTRDTEEERROODE. TR LIV,




